
Solve the riddle by using the answers from above

Why did the student eat his homework?

110 ÷ 11 = __ 36 ÷ 12 = ___ 12 ÷ 3 = ___49 ÷ 7 = ___

E 0 I K

L

72 ÷ 8 = ___ 96 ÷ 8 = ___ 2 ÷ 1 = ___56 ÷ 7 = ___

F A P C

It was

9 12 3 7 2 7

10 8 2 9 4 7



Solve the riddle by using the answers from above

Why did the student eat his homework?

110 ÷ 11 = __ 36 ÷ 12 = ___ 12 ÷ 3 = ___49 ÷ 7 = ___

E 0 I K

L

72 ÷ 8 = ___ 96 ÷ 8 = ___ 2 ÷ 1 = ___56 ÷ 7 = ___

F A P C

It was

9 12
A P

3 7 2 7
I E C E

10 8
O F

2 9 4 7
C A K E

7 10 3 4

8 9 12 2


